


In the sentences, certain words are in bold and 

numbered from A to H, which are the possible 

pairs to be interchanged. Choose the pair(s) of 

the words that need(s) to be interchanged to 

make the sentence grammatically correct and 

meaningful.



a. Alcoholics are notorious(A) for their 

ability(B) to deceive standardizes(C) about the 

extent of their(D) problem.

b. UML does not proscribe(E) any particular 

software development method(F) or process; it 

merely themselves(G) the form of notation(H).

1. H-A

2. C-G

3. B-D

4. C-F and E-A

5. B-F



a. The households(A) wild man(B) of rock has 

reinvented(C) himself as a respectable(D) 

family man.

b. These(E) men came home to former(F) 

where they were not only strangers(G) but 

contemptible(H) strangers.

1. B-D

2. A-F

3. G-E

4. A-B

5. C-F and D-E



a. The chance to transcribe(A) the 

manuscripts was the most inflation(B) luck, the 

greatest thing(C) that's ever happened(D) to 

me.

b. The Treasury has decided(E) to raise 

interest rates(F) as a pre-emptive measure(G) 

against fantastic(H).

1. A-D

2. E-G

3. B-C

4. B-H

5.



a. Exercise will not only lower(A) blood 

correspondingly(B) but possibly protect(C) 

against heart attacks(D).

b. No matter how cruel the destiny treats(E) 

one with tribulation and misfortune(F), it will 

pressure(G) treat him with happiness(H) and 

sweetness.

1. A-D

2. E-F

3. C-H

4. B-G

5.



a. She needed speech(A) therapy after she 

suffered(B) severe head outside(C) in a car 

accident(D).

b. Some of the fans(E) had waited for 24 hours 

injuries(F) the Hyde Park Hotel to catch(G) a 

glimpse of their heroine(H).

1. E-D

2. A-F

3. B-E and C-G

4. C-F

5. E-B



Three sentences are given. You need to find if 

they are grammatically correct or incorrect and 

mark the answer accordingly.



(P) One evening he came home with a small 

bundle of notes, saying he had just sold a 

book to a publisher

(Q)I had been working for Anil for almost a 

month and, apart from cheating on the 

shopping, had not done anything in my line of 

work

(R). He was the mostly trusting person I had 

ever met.

1. Only P is incorrect

2. Only Q is incorrect

3. Only P and Q is incorrect



(P) Everyone thought that Horace Danby was 

a good, honest citizen.

(Q) He was about fifty years old and 

unmarried, and he lived with a housekeeper 

who worried over his health.

(R) In fact, he was usually very well and happy 

expect for attacks of hay fever in summer.

1. Only P is incorrect

2. Only Q is incorrect

3. Both P and Q is incorrect

4. Only R is incorrect

5. All are correct



(P) Later, he patted me on the head and said 

never mind, he’d teach me to cook

(Q) I think he knew I made a little money this 

way but he did not seem to mind.

(R) But I just hanged around, smiling in my 

most appealing way, and he couldn’t help 

laughing

1. Only P is incorrect

2. Both P and Q are incorrect

3. Only R is incorrect

4. Only Q is incorrect

5. All are correct



(P) He took me to his room over the Jumna 

Sweet Shop and told me I could sleep on the 

balcony.

(Q) But the meal I cooked that night must had 

been terrible because Anil gave it to a stray 

dog and told me to be off.

(R) I think he knew I made a little money this 

way but he did not seem to mind.

1. Only P is incorrect

2. Only Q is incorrect

3. Both Q and R are incorrect

4. Only R is incorrect



Given below is a passage with five blanks (A-

E). A phrase written in brackets is given 

against each blank. Choose the right word 

from the options which can replace the phrase 

most appropriately. If none of the options fit for 

the replacement, according to you, then select 

'None of these' as your answer and if all of the 

options fit for the replacement, then select 'All 

of these' as your answer.



India has been raising with China the _______(A)(plight, joy, 

disaster) of approximately 22,000 Indian students enrolled in 

Chinese universities who are unable to go back for physical 

classes. However, the neighbouring country has till date refused 

to let them enter. These students had to leave their studies in 

China and come to India when the COVID-19 

________(B)(pandemic, epidemic, situation) began at the 

beginning of 2020. In a circular issued on April 20 regarding 

India, the International Air Transport Association (IATA) said, 

"Tourist visas ______(C)(issued, granted, given) to nationals of 

China (People's Republic) are no longer valid."

It said the following passengers are _______(D)(allowed, 

restricted, denied) to enter India: nationals of Bhutan, India, 

Maldives and Nepal; passengers with a residence 

______(E)(license, permit, degree) issued by India; passengers 



Which of the following fits the blank labelled 

(A)?

1. plight

2. joy

3. plight, joy

4. plight, joy, disaster

5. None of the above



Which of the following fits the blank labelled 

(B)?

1. pandemic

2. ​pandemic, epidemic

3. epidemic

4. pandemic, epidemic, situation

5. None of the above



Which of the following fits the blank labelled 

(C)?

1. issued

2. granted

3. given

4. issued, granted, given

5. None of the above



Which of the following fits the blank labelled 

(D)?

1. allowed

2. restricted

3. allowed, denied

4. allowed, restricted, denied

5. None of the above



Which of the following fits the blank labelled 

(E)?

1. license

2. permit

3. license, permit

4. license, permit, degree

5. None of the above



In the following questions , a part of the 

sentence (a word or phrase) has been 

highlighted in bold . Four different ways of 

writing the phrase or word has been given in 

the options(1), (2) ,(3)and (4). Find the correct 

replacement of the given word or phrase . If 

the given word or phrase is not correct , then 

select option (5) None of these as your 

answer.



According to the records of housing department 

about 13k SRA flat owners in Mumbai flouted the 

lock-in period and resold their property. Hearing 

this case senior counsel commented "the so called 

homeless poorly persons should not have 

transferred their permanent accommodation after 

declaring themselves as slum owners'

1. the so called homeless poorer persons should 

not have transferred

2. the so called homeless poorly persons should 

not have transferred

3. the so called homeless poor persons should not 



A gaggle of grey-headed film veterans have 

accused of peddling a new scheme of 

threatening the hotel managers to pocket a 

free lunch

1. A gaggle of grey-headed film veterans have 

accusing

2. A gaggle of grey-headed film veterans has 

accused 

3. A gaggle of grey-headed film veterans have 

been accused 



The healthy menu now features sprouts, poha and 

upma with lots of vegetables and sandwiches was 

made up of brown bread with a vegetable base.

1. upma with lots of vegetables and sandwiches were 

made up of brown bread 

2. upma with lots of vegetables and sandwiches are 

made up of brown bread 

3. upma with lots of vegetables and  sandwiches was 

making up of brown bread 

4. upma with lots of vegetables and  sandwiches has 

been made up of brown bread 

5. None of these.



WR authorities have also decided to remove all 

benches on platform except for those reserved for 

the elderly and the infirm and deploy additional 

personnel during peak hours to ensure smooth 

movement of traffic.

1. WR authorities were also decided to remove all 

benches on platform

2. WR  authorities have been also decided to 

remove all benches on platform

3. WR authorities has also decided to remove all 

benches on platform

4. WR authorities has been also decided to remove 



This kind of a knee-deep reaction is on 

expected lines given the fact that the global 

growth is at risk because of corona virus issue.

1. knee-deep reaction

2. knee-drop reaction

3. knee-crack reaction

4. knee-jerk reaction

5. knee-rub reaction



The sentence given below is divided into four 

parts. The sentence may or may not be 

grammatically or contextually correct. 

Interchange the parts of the sentence to make 

it correct, and mark the correct interchange as 

your answer. If no interchange is required 

mark 'no interchange is required' as your 

answer.



Reflecting the paradoxical sinking fate of a 

waterlogged ecosystem (A) within the 

Myristica swamp, reliant on freshwater bodies, 

(B) face an imminent threat due to climate 

change and the desiccation of vital water 

resources, (C) endemic and endangered plant 

species residing. (D)

1. D-B, C-A

2. A-D

3. A-B

4. A-B, C-D

5. No interchange is required



The intricate interplay between regulatory 

frameworks, (A) global market fluctuations, 

technological advancements, and risk 

management strategies (B) profoundly shapes the 

intricate landscape of banking and finance, 

demanding constant adaptation (C) and meticulous 

analysis to ensure sustainable growth and mitigate 

systemic vulnerabilities. (D)

1. A-B

2. B-C

3. C-D, A-B

4.



The Chandrayaan-3's successful landing on 

the moon, (A) is contingent upon the alignment 

of the launch date with the lunar sunrise, (B) 

with its indigenous lander and rover equipped 

with scientific payloads, (C) thus potentially 

occurring during the final week of August. (D)

1. C-D, A-B

2. B-D, A-C

3. B-C

4. C-D

5. No interchange is required



Six sentences are given; one sentence is 

going to be filled with the appropriate word. 

Arrange the sentences to form a meaningful 

paragraph. Read the sentences carefully and 

answer the questions that follow.



A. Finally, as the virus seemingly 

wanes, cricket’s shortest version 

moves Down Under during a time 

when the Indian Premier League 

(IPL), Big Bash, and other 

mushrooming leagues are eating 

into the international calendar.

B. The big game, as advertisers prefer 

to label it, would pit India against 

Pakistan at Melbourne on Sunday. 

C. When defending champion 

Australia takes on the last edition’s 

runner-up New Zealand at Sydney on 

Saturday, the ICC Twenty20 World 

D. For Twenty20 international 

fixtures often lost between 

forgettable bilateral contests and 

the glamorous sway of the IPL and 

other leagues, the T20 World 

Cup’s eighth edition has already 

commenced through its set of 

qualifiers and ______________.

E. With IPL franchises spreading 

footprints across the seas, 

especially in South Africa, 

contracted players are caught in 

an old debate borrowed from 

football — club versus country.

F. The COVID-19 pandemic 

CFAEDB



A blank follows sentence D. Which of the following can fit 

in the blank grammatically and contextually, considering 

the final arrangement as a whole?

1. Will often gets past Pakistan but the latter’s triumph in 

the T20 World Cup last year offered a counter-point.

2. Will offer pointers to how the game could evolve 

through the prism of nationalism and commerce.

3. May fancy its chances of replicating its trophy success 

from the inaugural edition in 2007.

4. The sold-out contest is the third between the 

neighbours after the Asia Cup jousts in the UAE.

5. Would either wanted return of payments or reduction 

in value or redrafting of agreements.



Read the passage given below and answer 

the questions that follow by choosing the 

correct/most appropriate options: 



A drug developed by the Defence Research and Development 

Organisation (DRDO) may reverse the heart damage caused by 

a protein in the SARS-CoV-2 virus, a study conducted in fruit 

flies and mice has found. Researchers from the University of 

Maryland identified how a specific protein in SARS-CoV-2, the 

virus responsible for COVID-19, damages heart tissue. They 

then used the drug, called 2DG, to reverse the toxic effects of 

that protein on the heart. Developed by Dr. Reddy's 

Laboratories in collaboration with DRDO, 2DG is an oral drug.

The SARS-CoV-2 virus depends upon glycolysis or the 

breakdown of glucose for energy. The drug hinders the process 

of glycolysis and prevents the growth of the virus. People 

infected with COVID-19 are at a significantly higher risk for 

developing inflammation of the heart muscle, abnormal heart 

rhythms, blood clots, stroke, heart attacks, and heart failure for 



The scientists, who are from the University of Maryland, 

Baltimore, US, then used a drug to reverse the toxic effects of 

the SARS-CoV-2 virus protein on the heart.

"Our research shows that individual SARS-CoV-2 proteins can 

each do major damage to specific tissues in the body, similar 

to what has been found for other viruses like HIV and Zika," 

said senior author Zhe Han. Their findings, based on research 

with fruit flies and mouse heart cells, were published in Nature 

Communications Biology. Although scientists around the world 

rapidly developed vaccines and medications to lessen the 

severity of COVID-19 disease, the study said that these 

therapies did not protect the heart or other organs from the 

damage that could be done by even a mild infection.

"To treat patients in the long run, we must first understand the 

mechanism behind what is causing the disease. By identifying 



Last year, Han and his team identified the most toxic SARS-CoV-

2 proteins in studies using fruit flies and human cells. They found 

a drug 'selinexor' reduced the toxicity of one of these protein, but 

not the other one, known as Nsp6, according to the study. In 

their latest study, they found that Nsp6 turned out to be the most 

toxic SARS-CoV-2 protein in the fly heart. Next, the study said, 

they found that the Nsp6 protein hijacked the fruit fly's cells in its 

heart to turn on the glycolysis process, which enables cells to 

burn the sugar glucose for energy. Typically, heart cells use fatty 

acids as an energy source, but switch over to sugar metabolism 

during heart failure as these cells try to repair the damaged 

tissue. The researchers also found the Nsp6 protein did add 

damage by disrupting the cell's powerhouse, called the 

mitochondria, which produces energy from sugar metabolism, 



"We know that some viruses hijack the infected animal's cell 

machinery to change its metabolism to steal the cell's energy 

source, so we suspect SARS-CoV-2 does something similar. The 

viruses can also use the by-products of sugar metabolism as 

building blocks to make more viruses," Han said. "So, we predict 

this drug that changes the metabolism in the heart back to what it 

was before the infection would be bad for the virus, by both cutting 

off its energy supply and eliminating the pieces it needs to 

replicate," Han said. The researchers said that fortunately 2DG is 

inexpensive and is used regularly in laboratory research. Although 

2DG has not been approved by the U.S. Food and Drug 

Administration to treat disease, the drug is currently in clinical trials 

for the treatment of COVID-19 in India, the study said. "Too many 

Americans who have recovered from COVID wind up with 

dangerous heart conditions weeks or months later, and we need to 



What is the central theme of the passage?

1. A specific protein in SARS-CoV-2, the virus 

responsible for COVID-19, damages heart 

tissue.

2. Nsp6 was found to have a high rate of 

turnover.

3. Viruses hijack the infected animal's cell 

machinery to change its metabolism to steal 

the cell's energy source.

4. India-made drug shown to treat heart 

damage caused by Covid protein.

5. Gene 11 of Rotavirus encodes a 



Which of the following can be inferred from the 

first paragraph?

1. Understand the mechanism.

2. Using 2DG to reverse the toxic effects of 

that protein on the heart.

3. Lessening the severity of COVID-19 

disease.

4. The dependency of the virus responsible for 

COVID-19 upon glycolysis.

5. Refining the treatments.



In this question, a sentence (in bold) from the passage has 

been divided into five parts (A), (B), (C), (D), and (E). Read 

the sentence to find out whether there is any grammatical 

error in it. The error if any, will be in one part of the 

sentence. If there is no error, the answer is 'No error'. 

Ignore the error of punctuation if any.

They found a drug 'selinexor' (A)/ reduced the toxicity of 

one of these protein, (B)/ but not the other one, known (C)/ 

as Nsp6, according to the study. (D)/ No error (E)

1. A

2. B

3. C

4. D



Choose the most appropriate meaning of the 

given idiom from the passage:

In the long run

1. Over or after a long period of time.

2. To move at a speed faster than a walk.

3. A journey accomplished or route taken on a 

regular basis.

4. To pass or cause to pass quickly in a 

particular direction.

5. Measuring a great distance from end to 



THANK 
YOU


